REEH

7 H 2

mtel
S TEY
Ak

e 2]

E#{g/m2)
E

£2 (6]
ifiss A
(MN/2 5mm)

#[a

BRE (m/m/min)

fEmE® (T)

HEEE (T)

Mt

fird B 1

i A

REIREN

EREETG I

BB
e e

BIRETHE

800

i)

=1800

=1800

Te=15

150

170

%

&<

ME. B
RWERE

HiELT
1R

BT f g

=860

2.1

=1800

=1800

15-30

220

260

RE. B
TR

R

=860

=1800

=1800

15-30

260

320

BE. Bk
wRERE

WIBLF 4
PPS

Bt

=860

2.2

=1800

=1800

15~40

200

220

BE. BX
TR E

3 4220
P84

ke g

=850

2.3

=1800

=1800

15~40

280

320

K

]

BRE. Tk
WA RE

W4
PTFE

RER T4

800

2.0

=800

=1000

15-30

260

300

*®

|

ME. Bk
RRERE



